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Quiz for Section 6.2

1.  (4 pts)  Translate each of the following research questions into appropriate hypotheses H0 and Ha.

(a)  Last year, your company’s service technicians took an average of 2.6 hours to respond to trouble calls from business customers who had purchased service contracts.  Do this year’s data show a different average response time?


H0:


Ha:
(b)  Census Bureau data show that the mean household income in the area served by a shopping mall is $62,500 per year.  A market research firm questions shoppers at the mall to find out whether the mean household income of mall shoppers is higher than that of the general population in the area.  


H0:


Ha:
2.  (2 pts)  You are told that a significance test is significant at the 5% level.  From this information, can you determine whether or not it is significant at the 1% level?  _______  Explain:

3.  (4 pts)  To determine whether the mean nicotine content of a brand of cigarettes is different from the advertised value of 1.4 milligrams, a health advocacy group tests these hypotheses:  


H0: μ = 1.4


Ha: μ ≠ 1.4

Based on sample data, they calculate z = 2.39.
(a)  Find the P-value for this test.  __________

(b)  Is the result significant at the 5% level?  ___________
6.2 Formulas:  Z Test for a Population Mean (σ known) 
a.  Left-tail Z Test for a Population Mean:

1. State the null hypothesis 
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2. (If the population variable X is not normally distributed then the sample size n should be at least 40 to use a Z test.)  Based on an SRS of size n from the population, calculate the sample mean 
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 and the test statistic
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3. Find the P-value, P = 
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b.  In a right-tail Z test, the alternative hypothesis has the form 
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c.  In a two-tail Z test, the alternative hypothesis has the form 
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